

ON GENERALIZED FIBONACCI AND LUCAS NUMBERS OF THE FORM $wkx^2\pm 1$

Olcay Karaatli

Department of Mathematics, Sakarya University, Serdivan, Sakarya, Turkey okaraatli@sakarya.edu.tr

Received: 11/12/15, Revised: 3/31/16, Accepted: 4/21/16, Published: 5/16/16

Abstract

Let P be an odd integer, (U_n) and (V_n) denote generalized Fibonacci and Lucas sequences defined by $U_0 = 0$, $U_1 = 1$, and $U_{n+1} = PU_n + U_{n-1}$, $V_0 = 2$, $V_1 = P$, and $V_{n+1} = PV_n + V_{n-1}$ for $n \ge 1$. In this paper, we solve the equations $U_n = kx^2 \pm 1$ under some conditions on n. Moreover, we determine all indices n such that the equations $V_n = wkx^2 \pm 1$, where $w \in \{1, 2, 3, 6\}$, k|P with k > 1, have solutions.

1. Introduction

Let P and Q be nonzero integers, let $D = P^2 + 4Q$ be called the discriminant, and assume that D > 0 (to exclude degenerate cases). Consider the polynomial $X^2 - PX - Q$, called characteristic polynomial, which has the roots

$$\alpha = \frac{P + \sqrt{D}}{2}$$
 and $\beta = \frac{P - \sqrt{D}}{2}$.

For each $n \ge 0$, define $U_n = U_n(P, Q)$ and $V_n = V_n(P, Q)$ as follows:

$$U_0 = 0, \quad U_1 = 1, \quad U_{n+1} = PU_n + QU_{n-1} \quad (\text{for } n \ge 1),$$

$$V_0 = 2, \quad V_1 = P, \quad V_{n+1} = PV_n + QV_{n-1}, \quad (\text{for } n \ge 1).$$

We shall consider special cases of the generalized Fibonacci and Lucas sequences. For (P,Q) = (1,1), (U_n) is the sequence of Fibonacci numbers and (V_n) is the sequence of Lucas numbers. For (P,Q) = (2,1), (U_n) and (V_n) are the sequences of Pell numbers, respectively Pell-Lucas numbers.

It is convenient to extend these sequences also for negative indices:

$$U_{-n} = -\frac{U_n}{(-Q)^n}, \qquad V_{-n} = \frac{V_n}{(-Q)^n}$$

for $n \geq 1$. With this definition, the two relations above hold for all integers n.

Binet's formulas express the numbers U_n and V_n in terms of α and β :

$$U_n = \frac{\alpha^n - \beta^n}{\alpha - \beta}, \quad V_n = \alpha^n + \beta^n.$$

Note that by Binet's formulas

$$U_n(-P,Q) = (-1)^{n-1}U_n(P,Q)$$

$$V_n(-P,Q) = (-1)^n V_n(P,Q).$$

So, it will be assume that $P \ge 1$. For more information about generalized Fibonacci and Lucas sequences, the reader can follow [8, 16, 21, 18].

Elementary treatement of F_n is equal to polynomial in x is quite old. For example, Cohn [4] determined the squares in the Fibonacci sequence by an elementary method in 1964. Various authors worked on extending this approach to other quadratic polynomials. The starting impulse for this paper is the determination by Steiner [24], and more simply by Williams [27], of the Fibonacci numbers of the form $x^2 + 1$. Finkelstein determined Fibonacci and Lucas numbers of the form $x^2 + 1$ in [6], respectively in [7]. Ribenboim [20] introduced a general method which allows to identify numbers in generalized Fibonacci and Lucas numbers of the form $x^2 \pm 1$. Robbins [22] considered the Fibonacci numbers of the form $x^2 - 1$ and $x^3 \pm 1$. The same author [23] also determined Fibonacci numbers of the form $px^2 \pm 1$ and $px^3 \pm 1$. Antoniadis [2] generalized the result of Finkelstein [6], [7], and Robbins [22] about the Fibonacci and Lucas numbers of the form $x^2 \pm 1$. The problem of determining the terms of the linear recurrence sequence which can be represented by quadratic or cubic polynomials has been also of interest to many mathematicians. We recall that London and Finkelstein [13], as well as Pethő [17], Langarias and Weissel [12] showed that the only Fibonacci numbers which are cubes are $U_1 = U_2 = 1$, $U_6 = 8$. On the other hand, $V_1 = 1$ is the only Lucas number which is a cube. Luo [15] interested in Fibonacci numbers of the form $\frac{x(x+1)}{2}$ in 1989. Luca [14] determined Fibonacci numbers of the form $x^2 + x + 2$. In [3], Bugeaud, Mignotte, Luca, and Siksek showed that the only Fibonacci numbers which are at distance 1 from a perfect power are 1, 2, 3, 5, and 8.

In [1], the authors showed that when $a \neq 0$ and $b \neq \pm 2$ are integers, the equation $V_n(P, \pm 1) = ax^2 + b$ has only a finite number of solutions n. Moreover, the same authors showed that when $a \neq 0$ and b are integers, the equation $U_n(P, \pm 1) = ax^2 + b$ has only a finite number of solutions n. Keskin [11] solved the equations $U_n(P, -1) = kx^2 \pm 1$ and $V_n(P, -1) = kx^2 \pm 1$ and $V_n(P, -1) = 2kx^2 \pm 1$ when k|P with k > 1. After, Karaath and Keskin [9] solved the equations $V_n(P, -1) = 5kx^2 \pm 1$ and $V_n(P, -1) = 7kx^2 \pm 1$ when k|P with k > 1. In [10], Karaath added to the above list the values of n for which $V_n(P, 1)$ is of the form $5kx^2 \pm 1$ and $7kx^2 \pm 1$ when k|P with k > 1.

The object of this paper is to determine the indices n such that the equations $U_n(P,1) = kx^2 \pm 1$ and $V_n(P,1) = wkx^2 \pm 1$, where $w \in \{1, 2, 3, 6\}$, k|P with k > 1, have solutions.

Section 2 consists of preliminaries where all the required facts are gathered for convenience of the reader. And in Section 3, we give our main theorems. Throughout the paper $\binom{*}{*}$ denotes the Jacobi symbol.

2. Preliminaries

We can give the following lemma without proof since its proof can be done by induction.

Lemma 1. Let n be a positive integer. Then

$$V_n \equiv \begin{cases} 2 \pmod{P^2} & \text{if } n \text{ is even,} \\ nP \pmod{P^2} & \text{if } n \text{ is odd,} \end{cases}$$
(1)

and

$$U_n \equiv \begin{cases} \frac{n}{2}P \pmod{P^2} & \text{if } n \text{ is even,} \\ 1 \pmod{P^2} & \text{if } n \text{ is odd.} \end{cases}$$
(2)

The following two lemmas can be found in [25].

Lemma 2. Let $n \in \mathbb{N} \cup \{0\}$, $m, r \in \mathbb{Z}$ and m be a nonzero integer. Then

$$U_{2mn+r} \equiv (-1)^{mn} U_r \pmod{U_m},\tag{3}$$

$$V_{2mn+r} \equiv (-1)^{mn} V_r \pmod{U_m}.$$
(4)

Lemma 3. Let $n \in \mathbb{N} \cup \{0\}$ and $m, r \in \mathbb{Z}$. Then

$$U_{2mn+r} \equiv (-1)^{(m+1)n} U_r \pmod{V_m},$$
(5)

$$V_{2mn+r} \equiv (-1)^{(m+1)n} V_r \pmod{V_m}.$$
 (6)

When P is odd, since $8|U_6$, using (3) we get

$$U_{12q+r} \equiv U_r \pmod{8}. \tag{7}$$

Lemma 4. [Siar and Keskin, [26], Theorem 3.4] Let k > 1 be a squarefree positive divisor of odd P. If $V_n = kx^2$ for some integer x, then n = 1 or n = 3.

We have the following lemma from [5] and [19].

Lemma 5. If P is odd, then the equation $V_n = x^2$ has the solutions n = 1, $P = \Box$ (=perfect square), and $P \neq 1$ or n = 1, 3 and P = 1 or n = 3 and P = 3.

Among the numerous identities and divisibility properties satisfied by the generalized Fibonacci and Lucas numbers we list below which will be used in this paper.

$$U_{2m+1} - 1 = U_m V_{m+1}$$
 if *m* is even, (8)

$$U_{2m+1} + 1 = U_m V_{m+1}$$
 if *m* is odd, (9)

$$V_{-n} = (-1)^n V_n, (10)$$

$$U_{-n} = (-1)^{n+1} U_n, \tag{11}$$

$$V_{2n} = V_n^2 - 2(-1)^n. (12)$$

If $r \ge 1$, then by (12),

$$V_{2^r} \equiv 2 \pmod{P}.$$
 (13)

The following follows from (13);

$$(V_{2^r}, P) = 1, (14)$$

if 3|P, then

$$\left(\frac{3}{V_{2^r}}\right) = 1. \tag{15}$$

Moreover, by using induction, it can be seen that

$$V_{2^r} \equiv \begin{cases} 3 \pmod{8} \text{ if } r = 1, \\ 7 \pmod{8} \text{ if } r \ge 2, \end{cases}$$

and thus

$$\left(\frac{2}{V_{2^r}}\right) = \begin{cases} -1 \text{ if } r = 1,\\ 1 \text{ if } r \ge 2, \end{cases}$$
(16)

and

$$\left(\frac{-1}{V_{2^r}}\right) = -1\tag{17}$$

for all $r \ge 1$.

If P is odd, then

for all $r \geq 2$, and

$$\left(\frac{U_3}{V_{2^r}}\right) = 1\tag{18}$$

$$\left(\frac{-V_4+1}{V_{2^r}}\right) = -1\tag{19}$$

for all $r \geq 3$.

Let $m = 2^{a}k$, $n = 2^{b}l$, k and l odd, $a, b \ge 0$, and d = (a, b). Then

$$(U_m, V_n) = \begin{cases} V_d \text{ if } a > b, \\ 1 \text{ or } 2 \text{ if } a \le b. \end{cases}$$
(20)

If $r \geq 1$, then

$$\left(\frac{P}{V_{2^r}}\right) = (-1)^{\frac{P-1}{2}} (-1)^{\frac{P^2-1}{8}}, \qquad (21)$$

and if k is any positive divisor of P, then (21) implies that

$$\left(\frac{k}{V_{2^r}}\right) = (-1)^{\frac{k-1}{2}} (-1)^{\frac{k^2-1}{8}}.$$
(22)

Moreover,

$$\left(\frac{V_2}{V_{2^r}}\right) = 1\tag{23}$$

for all $r \geq 3$.

3. Main Theorems

We assume from this point on that n is a positive integer and unless otherwise stated, P is odd and Q = 1. We also assume that k|P with k > 1 in all of the stataments of theorems below.

In [2], Antoniadis solved the equation $U_m = kx^2 + l$ under the conditions that $k \equiv 1, 3 \pmod{8}$, $l \equiv 1 \pmod{8}$ and $m \equiv 1 \pmod{2}$. Here, we will solve the equation by taking $k \equiv 5, 7 \pmod{8}$ and l = 1.

Theorem 1. If $k \equiv 1,3 \pmod{8}$, then the equation $U_n = kx^2 + 1$, n = 2m + 1, $m \equiv \pm 1, 3 \pmod{8}$, has no solutions. If $k \equiv 5, 7 \pmod{8}$, then the equation $U_n = kx^2 + 1$, n = 2m + 1, $m \equiv 1 \pmod{4}$, has no solutions. If $U_n = kx^2 + 1$ for some integer x, then n = 1 or n = 5, where n = 2m + 1 with m even.

Proof. Assume that $U_n = kx^2 + 1$ for some integer x. If n were even, then by (2), $U_n \equiv \frac{n}{2}P \pmod{P^2}$, which would imply that $k|U_n$, because k|P. This follows from our assumptions that k|1, contradicting k > 1. Therefore, n is odd, say n = 2m + 1 for some m > 0. The remainder of the proof is split into two cases.

Case I: m odd. Assume that $m \equiv 1 \pmod{8}$ and $k \equiv 1, 3 \pmod{8}$. We can write m = 8q + 1 and therefore $n = 16q + 3 = 2 \cdot 2^r a + 3$ with $2 \nmid a$ and $r \geq 3$. Then by (5), we have

$$kx^{2} + 1 = U_{n} = U_{2 \cdot 2^{r}a + 3} \equiv -U_{3} \pmod{V_{2^{r}}},$$

INTEGERS: 16 (2016)

implying that

$$kx^2 \equiv -(P^2 + 2) \equiv -V_2 \pmod{V_{2^r}}.$$

This shows that

$$1 = \left(\frac{-kV_2}{V_{2^r}}\right).$$

However, this is impossible since $\left(\frac{-1}{V_{2r}}\right) = -1$ by (17), $\left(\frac{k}{V_{2r}}\right) = 1$ by (22), and $\left(\frac{V_2}{V_{2r}}\right) = 1$ by (23).

Assume that $m \equiv -1 \pmod{8}$. Then we immediately have $n = 16q - 1 = 2 \cdot 2^r a - 1$ with $2 \nmid a$ and $r \geq 3$. By (5) and (11), we get

$$kx^{2} + 1 = U_{n} = U_{2 \cdot 2^{r}a - 1} \equiv -U_{-1} \pmod{V_{2^{r}}}$$

implying that

$$kx^2 \equiv -2 \pmod{V_{2^r}}.$$

This shows that

$$1 = \left(\frac{-2}{V_{2^r}}\right),$$

which is impossible since $\left(\frac{-2}{V_2 r}\right) = -1$ by (16) and (17).

Assume that $m \equiv 3 \pmod{8}$. Then we can write n = 16q + 7 = 8(2c + 1) - 1 = 8c - 1 with odd c. The detail of the proof is exactly the same to that of above case. So, we again get a contradiction.

Now assume that $m \equiv 1 \pmod{4}$ and $k \equiv 5,7 \pmod{8}$. If we write m = 4q + 1, then we get n = 8q + 3. Firstly, assume that q is even. And thus,

$$kx^2 + 1 = U_n = U_{2 \cdot 4q + 3} \equiv U_3 \pmod{V_4}$$

by (5). This means that

$$kx^2 \equiv P^2 \pmod{V_4},$$

which is impossible since $\binom{k}{V_4} = -1$ by (22). Hence, q is odd. Let 3|q. Then n = 24t + 3. Applying (7), we have

$$kx^2 + 1 = U_n \equiv U_3 \pmod{8},$$

i.e.,

$$kx^2 \equiv 1 \pmod{8}.$$

However, this is impossible since $k \equiv 5,7 \pmod{8}$.

Let $3 \nmid q$, say $q = 3t \pm 1$. Then we immediately have n = 24t + 11 or n = 24t - 5. In both cases, we can easily write n = 4c - 1 with odd c. So, by using (5) and (17), we get

$$kx^{2} + 1 = U_{n} = U_{2 \cdot 2c - 1} \equiv -U_{-1} \equiv -1 \pmod{V_{2}},$$

implying that

$$kx^2 \equiv -2 \pmod{V_2}.$$

But this is also impossible since $\binom{k}{V_2} = -1$ by (22), $\binom{-1}{V_2} = -1$ by (17), and $\binom{2}{V_2} = -1$ by (16).

Case II: m even. By using (8), we get $kx^2 = U_m V_{m+1}$. Then $(U_m, V_{m+1}) = P$ by (20). Thus, it follows that $U_m = k_1 P u^2$ and $V_{m+1} = k_2 P v^2$ with $k_1 k_2 = k$. By Lemmas 4 and 5, we have m + 1 = 1 or m + 1 = 3. That is to say, m = 0 or m = 2. Hence, n = 1 or n = 5. This completes the proof.

Theorem 2. The equation $U_n = kx^2 - 1$ has no solutions.

Proof. Assume that $U_n = kx^2 - 1$ for some integer x. Then by (2), n is odd. Let $n = 4q \pm 1$ for some q > 0. By (3) and (11), we have

$$kx^2 - 1 = U_n = U_{2 \cdot 2q - 1} \equiv U_{\pm 1} \equiv 1 \pmod{U_2}.$$

This implies that

$$kx^2 \equiv 2 \pmod{k}.$$

But this is impossible since k > 1 is odd.

Theorem 3. The equations $V_n = wkx^2 + 1$, $w \in \{1, 2, 3, 6\}$, have no solutions.

Proof. Assume that $V_n = wkx^2 + 1$ for some integer x. Then n is even. For, otherwise we would have $k|V_n$ by (1), because k|P. Then this would imply that k|1, contradicting k > 1. Hence, n = 2m, say.

Assume that m is even. Then by (12) and (1), we have $V_n = V_m^2 - 2 \equiv 2 \pmod{P^2}$. Since k > 1 and k|P, it follows that $wkx^2 \equiv 1 \pmod{k}$, a contradiction.

Assume now that m is odd. Then by (12), we have $wkx^2 + 1 = V_n = V_m^2 + 2$, implying that $wkx^2 = V_m^2 + 1$. Since m is odd, we see from (1) that $k|V_m$, because k|P. This shows that k|1, which contradicts the fact that k > 1. This completes the proof.

Theorem 4. The equation $V_n = kx^2 - 1$ has only the solution $(n, P, k, x) = \left(2, 3U_t(4, -1), 3, \frac{V_t(4, -1)}{2}\right)$ with t odd.

Proof. Assume that $V_n = kx^2 - 1$ for some integer x. Then by (1), n is even, n = 2m, say. If m is even, then $kx^2 - 1 = V_n = V_m^2 - 2$. Since $V_m^2 \equiv 4 \pmod{k}$ by (1), it follows that $kx^2 \equiv 3 \pmod{k}$. This shows that k = 3 and therefore 3|P. We can write $m = 2^r a$ with a odd and $r \ge 1$, and therefore $n = 2 \cdot 2^r a$. Thus, we have

$$3x^2 - 1 \equiv -2 \pmod{V_{2^r}}$$

INTEGERS: 16 (2016)

by (6). This shows that

$$1 = \left(\frac{-3}{V_{2^r}}\right).$$

However, this is impossible since $\left(\frac{-1}{V_{2r}}\right) = -1$ by (17) and $\left(\frac{3}{V_{2r}}\right) = 1$ by (15). Hence, *m* is odd. Then we have $kx^2 - 1 = V_n = V_m^2 + 2$ by (12). By (1), $P|V_m$, which implies that k|3, i.e., k = 3 and therefore 3|P. Let m > 1. Then we can write $m = 4q \pm 1$ and therefore $n = 8q \pm 2 = 2 \cdot 2^r a \pm 2$ with odd *a* and $r \ge 2$. By (6) and (10), we obtain

$$3x^2 - 1 = V_n = V_{2 \cdot 2^r a \pm 2} \equiv -V_{\pm 2} \equiv -(P^2 + 2) \pmod{V_{2^r}}$$

This shows that

$$3x^2 \equiv -U_3 \pmod{V_{2^r}},$$

which implies that

$$1 = \left(\frac{-3U_3}{V_{2^r}}\right).$$

However, this is impossible since $\left(\frac{-1}{V_{2^r}}\right) = -1$ by (17), $\left(\frac{3}{V_{2^r}}\right) = 1$ by (15), and $\left(\frac{U_3}{V_{2^r}}\right) = 1$ by (18). Therefore m = 1 and so n = 2. Thus, $3x^2 - 1 = V_2 = P^2 + 2$ and this implies that $P^2 - 3x^2 = -3$. Since 3|P, it follows that P = 3a with a odd. Substituting this into $P^2 - 3x^2 = -3$, we have the equation $x^2 - 3a^2 = 1$. It is well known that all positive integer solutions of this equation are given by $(x, a) = \left(\frac{V_t(4,-1)}{2}, U_t(4,-1)\right)$. Since a is odd, we must have t is odd. As a consequence, we get the solution $(n, P, k, x) = (2, 3U_t(4,-1), 3, \frac{V_t(4,-1)}{2})$ with t odd. This completes the proof.

Theorem 5. The equations $V_n = wkx^2 - 1$, $w \in \{2, 3, 6\}$, have no solutions.

Proof. Assume that $V_n = wkx^2 - 1$ for some integer x. If n were odd, then by (1), $V_n \equiv nP \pmod{P^2}$, which would imply that $k|V_n$, because k|P. So, we would have that k|1, which would contradict our assumption that k > 1. Therefore n is even, n = 2m, say.

If m is even, then $V_n = V_{2m} = V_m^2 - 2$ by (12). This implies that $wkx^2 \equiv 3 \pmod{k}$ by (1) and the fact that k|P. This shows that k|3.

If m is odd, then $V_n = V_{2m} = V_m^2 + 2$ by (12), implying that $wkx^2 = V_m^2 + 3$. Since m is odd, it follows from (1) that $P|V_m$. And so k|3 since k|P. We see from the explanations above that k = 3 (independently of the parity of m). Therefore we are interested in finding the solutions of the equations $V_n = 3wx^2 - 1$, where $w \in \{2, 3, 6\}$. We distinguish three cases. **Case I:** w = 2. Assume that m is even. If $m \equiv 0 \pmod{8}$, then m = 8q and therefore $n = 16q = 2 \cdot 2^r a$ with odd a and $r \geq 3$. This shows that

$$6x^2 - 1 = V_n = V_{2 \cdot 2^r a} \equiv -2 \pmod{V_{2^r}},$$

i.e.,

$$\delta x^2 \equiv -1 \pmod{V_{2^r}}$$

by (6). However, this is impossible since $\left(\frac{2}{V_{2r}}\right)\left(\frac{3}{V_{2r}}\right) = 1$ by (16) and (15), and $\left(\frac{-1}{V_{2r}}\right) = -1$ by (17).

If $m \equiv \pm 2 \pmod{8}$, then $n = 16q \pm 4 = 2 \cdot 2^r a \pm 4$ with a odd and $r \ge 3$. By (6) and (10), we readily obtain

$$6x^2 \equiv -V_4 + 1 \pmod{V_{2^r}}.$$

This implies that

$$\left(\frac{6}{V_{2^r}}\right) = \left(\frac{-V_4 + 1}{V_{2^r}}\right).$$

However, this is impossible since $\left(\frac{2}{V_{2r}}\right)\left(\frac{3}{V_{2r}}\right) = 1$ by (16) and (15), and $\left(\frac{-V_4+1}{V_{2r}}\right) = -1$ by (19).

Lastly, if $m \equiv 4 \pmod{8}$, then n = 16q + 8 = 8c with odd c. Then by (6), we get

$$\delta x^2 \equiv -1 \pmod{V_4},$$

which is also impossible since $\left(\frac{2}{V_{2r}}\right)\left(\frac{3}{V_{2r}}\right) = 1$ by (16) and (15), and $\left(\frac{-1}{V_{2r}}\right) = -1$ by (17).

Assume now that m > 1 is odd. Therefore, writing $m = 4q \pm 1$, we have $n = 8q \pm 2 = 2 \cdot 2^r a \pm 2$ with a odd and $r \ge 2$. This shows that

$$6x^2 - 1 = V_n = V_{2 \cdot 2^r a \pm 2} \equiv -V_{\pm 2} \equiv -(P^2 + 2) \pmod{V_{2^r}}$$

by (6) and (10). Rearranging the congruence above gives

$$6x^2 \equiv -U_3 \pmod{V_{2^r}},$$

which is also impossible since $\left(\frac{2}{V_{2^r}}\right)\left(\frac{3}{V_{2^r}}\right) = 1$ by (16) and (15), $\left(\frac{-1}{V_{2^r}}\right) = -1$ by (17), and $\left(\frac{U_3}{V_{2^r}}\right) = 1$ by (18). Hence, m = 1 and so n = 2. This gives $6x^2 - 1 = V_2 = P^2 + 2$. Using the fact that 3|P, say P = 3a. Then we readily obtain $2x^2 = 3a^2 + 1$, which is impossible since $x^2 \equiv 2 \pmod{3}$ in that case.

Case II: w = 3. Assume that m is even. Putting $m = 2^r a$ with a odd and $r \ge 1$ gives $n = 2 \cdot 2^r a$. Therefore we have

$$9x^2 - 1 = V_n = V_{2 \cdot 2^r a} \equiv -2 \pmod{V_{2^r}}$$

by (5). This implies that

$$(3x)^2 \equiv -1 \pmod{V_{2^r}}.$$

However, this is impossible by (17).

Assume now that m > 1 is odd, $m = 4q \pm 1$, say. Therefore $n = 8q \pm 2 = 2 \cdot 2^r a \pm 2$ with a odd and $r \ge 1$. By (5), we readily obtain

$$(3x)^2 \equiv -U_3 \pmod{V_{2^r}}.$$

However, this is impossible since $\left(\frac{-1}{V_{2^r}}\right) = -1$ by (17) and $\left(\frac{U_3}{V_{2^r}}\right) = 1$ by (18). Hence, m = 1 and so n = 2. Thus, we have $9x^2 - 1 = V_2 = P^2 + 2$, i.e., $P^2 + 3 = (3x)^2$, gives 3 = (3x - P)(3x + P) and the only positive solution is $(x, P) = \left(\frac{2}{3}, 2\right)$, which is not convenient since we must have P is odd and x is integer.

Case III: w = 6. Assume that m is even. Let $m \equiv 0 \pmod{4}$. Putting m = 4q, we therefore have $n = 8q = 2 \cdot 2^r a$ with odd a and $r \ge 2$. Applying (6), we have

$$18x^2 - 1 = V_n = V_{2 \cdot 2^r a} \equiv -2 \pmod{V_{2^r}},$$

i.e.,

$$2(3x)^2 \equiv -1 \pmod{V_{2^r}}.$$

However, this is impossible since $\left(\frac{2}{V_{2r}}\right) = 1$ by (16) and $\left(\frac{-1}{V_{2r}}\right) = -1$ by (17).

Let $m \equiv 2 \pmod{4}$. Then n = 8q + 4. Actually, we can easily write $n = 16s \pm 4 = 2 \cdot 2^r a \pm 4$ with a odd and $r \geq 3$ (dependently the parity of q). And so by (6) and (10), we readily obtain

$$2(3x)^2 \equiv -V_4 + 1 \pmod{V_{2^r}}.$$

However, this is impossible since $\left(\frac{2}{V_{2r}}\right) = 1$ by (16) and $\left(\frac{-V_4+1}{V_{2r}}\right) = -1$ by (19). Assume now that m > 1 is odd. Therefore, writing $m = 4q \pm 1$, we have $n = 8q \pm 2 = 2 \cdot 2^r a \pm 2$ with a odd and $r \ge 2$. This shows that

$$18x^2 - 1 = V_n = V_{2 \cdot 2^r a \pm 2} \equiv -V_{\pm 2} \equiv -(P^2 + 2) \pmod{V_{2^r}}$$

by (6) and (10). It immediately follows from the congruence above that

$$2(3x^2) \equiv -U_3 \pmod{V_{2^r}},$$

which is also impossible since $\left(\frac{2}{V_{2r}}\right) = 1$ by (16), $\left(\frac{-1}{V_{2r}}\right) = -1$ by (17), and $\left(\frac{U_3}{V_{2r}}\right) = 1$ by (18). Hence, m = 1 and so n = 2. This shows that $18x^2 - 1 = V_2 = P^2 + 2$. Using the fact that 3|P, say P = 3a, gives $3a^2 + 1 = 6x^2$, which is impossible. This completes the proof.

Acknowledgements. The research was carried out during the author's visit to University of Crete, Crete, Greece. He would like to thank University of Crete for the hospitality during his stay and he would like to thank Sakarya University for the financial support. The author is also thank to the anonymous referee for his/her numerous valuable suggestions.

References

- M. A. Alekseyev and S. Tengely, On integral points on biquadratic curves and near-multiples of squares in Lucas sequences, J. Integer Seq. 17 (2014), Article 14.6.6, 15 pp.
- [2] J. A. Antoniadis, Generalized Fibonacci numbers and some Diophantine equations, Fibonacci Quart. (3) 23 (1985), 199–213.
- [3] Y. Bugeaud, M. Mignotte, F. Luca, and S. Siksek, Fibonacci numbers at most one away from a perfect square, *Elem. Math.* 63 (2008), 65–75.
- [4] J. H. E. Cohn, Square Fibonacci numbers, etc., Fibonacci Quart. (2) 2 (1964), 109–113.
- [5] J. H. E. Cohn, Eight Diophantine equations, Proc. London Math. Soc. (3) 16 (1966), 153– 166.
- [6] R. Finkelstein, On Fibonacci numbers which are one more than a square, Collection of articles dedicated to Helmut Hasse on his seventy–fifth birthday, J. Reine Angew. Math. 262/263 (1973), 171–178.
- [7] R. Finkelstein, On Lucas numbers which are one more than a square, *Fibonacci Quart.* (4) 13 (1975), 340–342.
- [8] D. Kalman and R. Mena, The Fibonacci numbers-exposed, Math. Mag. 76 (2003), 167–181.
- [9] O. Karaath and R. Keskin, Generalized Lucas numbers of the form 5kx² and 7kx², B. Korean Math. Soc. (5) 52 (2015), 1467–1480.
- [10] O. Karaath, On the Lucas sequence equations $V_n(P, 1) = wkx^2$, $w \in \{5, 7\}$, Period. Math. Hung., accepted.
- [11] R. Keskin, Generalized Fibonacci and Lucas numbers of the form wx^2 and $wx^2 \pm 1$, B. Korean Math. Soc. (4) **51** (2014), 1041–1054.
- [12] J. C. Lagarias and D. P. Weissel, Fibonacci and Lucas cubes, *Fibonacci Quart.* (1) 19 (1981), 39–43.
- [13] H. London and R. Finkelstein (alias R. Steiner), On Fibonacci and Lucas numbers which are perfect powers, *Fibonacci Quart.* (5) 7 (1969), 476–481 and 487.
- [14] F. Luca, Fibonacci numbers of the form k² + k + 2, Applications of Fibonacci numbers, 8 (Rochester, NY, 1998), 241–249, Kluwer Acad. Publ., Dordrecht, 1999.
- [15] L. Ming, On triangular Fibonacci numbers, Fibonacci Quart. (2) 27 (1989), 98–108.
- [16] J. B. Muskat, Generalized Fibonacci and Lucas sequences and rootfinding methods, Math. Comp. 61 (1993), 365–372.

- [17] A. Pethő, Full cubes in the Fibonacci sequence, Publ. Math. Debrecen, (1-2) 30 (1983), 117-127.
- [18] S. Rabinowitz, Algorithmic manipulation of Fibonacci identities, Applications of Fibonacci numbers, 6 (1996), 389–408.
- [19] P. Ribenboim and W. L. McDaniel, The square terms in Lucas sequences J. Number Theory, 58 (1996), 104–123.
- [20] P. Ribenboim, Binary recurring sequences and powers, II, Publ. Math. Debrecen, (3-4) 54 (1999), 349–375.
- [21] P. Ribenboim, My Numbers, My Friends, Springer-Verlag New York, Inc., 2000.
- [22] N. Robbins, Fibonacci and Lucas numbers of the forms $w^2 1$, $w^3 \pm 1$, Fibonacci Quart. (4) **19** (1981), 369–373.
- [23] N. Robbins, Fibonacci numbers of the forms $px^2 \pm 1$, $px^3 \pm 1$, where p is prime, Applications of Fibonacci numbers (San Jose, CA, 1986), 77–88, Kluwer Acad. Publ. Dordrecht, 1988.
- [24] R. Steiner, On Fibonacci numbers of the form v²+1, in: A collection of Manuscripts Related to the Fibonacci Sequence (V. E. Hoggatt and M. Bicknell–Johnson, eds.), The Fibonacci Association, Santa Clara, 1980, 208–210.
- [25] Z. Şiar and R. Keskin, Some new identities concerning generalized Fibonacci and Lucas numbers, Hacet. J. Math. Stat. (3) 42 (2013), 211–222.
- [26] Z. Şiar and R. Keskin, The square terms in Generalized Fibonacci sequence, Mathematika, 60 (2014), 85–100.
- [27] H. C. Williams, On Fibonacci numbers of the form $x^2 + 1$, Fibonacci Quart. (3) **13** (1975), 213–214.